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READ TEXT PAGES 528-529. ANSWER THE FOLLOWING QUESTIONS.

1) A circle consists of all points in a plane that are the same distance from a fixed point

called the Cenkex

g a 1 - A - i - Wt & \ [ 4 4 (T |
2) What is the radius? __ ('l "0l Homy Ve o 0NN D O qiwew

] 1 -

rad

5 H "\IJ"i/\_ 1 !___ - - . | [ ) ) * o
3) What is the diameter? CHSYO0E@  TVON OO wiae totlhe odbee Hioty Ce

4) The circumference of a circle is @f vwneter ( disfan ovound (tvele)

5) The Greek letter pi is equal to what two numbers. _ > | Cll Q0 =

6) Write the two formulas for Circumference. C=1rd C= Z’”_"(

7) Write the formula for Area of a Circle. ﬂ = Ayt

Find the circumference of the circle. Use 3.14 or % for 7r. Round to the
nearest whole number.
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For a circle with the given circumference C, find the radius and diameter of the
circle. Round to the nearest whole number.
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Find the area of the circle. Use 3.14 or % for 77. Round to the nearest

whole number. N\
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For a circle with the given area A, find the radius and diameter of the circle.
Round to the Mgwm
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49. A manhole cover has a dlameter of 24 inches. Find the c1rqp~nlf_e£e_r_196 of
the manhole cover to the nearest inch.
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20. The base of a yogurt container has a circumference of about 22 centimeters.
Find the radius and diameter of the base to the nearest centlmeter
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